9/09/2024 1:15 PM

24121-S51.dwg

WOOD BEAMS AT STEEL COLUMN

—_

KEY NOTES:

WOOD BEAM.

SIMPSON CCOQ COLUMN CAP
WITH 1/4"x2 1/2" SDS SCREWS.
STEEL COLUMN.

201

MECHANICAL UNIT PLATFORM

—_

322-02.3 NOT TO SCALE

KEY NOTES:

LINE OF MECHANICAL UNIT.
4x6 BELOW EDGE OF UNIT
(BETWEEN TRUSSES) WITH
F46 HANGER EACH END.
SIMPSON LUS46 OR F46
HANGER EACH END.

4x6 BELOW EDGE OF UNIT
WHERE EDGE OF UNIT IS
NOT DIRECTLY ABOVE TRUSS.
PREFABRICATED WOOD TRUSS
AT 24* 0.C.

206

S\

—_

©om

452-01.1 NOT TO SCALE

KEY NOTES:

2 — 16d NAILS (STUD TO BEAM).

WOOD STUD.
AT SHEARWALL WITH MST
STRAPS OR PAHD HOLDOWNS
USE 3x MINIMUM.

DOUBLE KING STUDS AT ALL
OPENINGS GREATER THAN 6'—0".
SIMPSON MSTA18 WITH 14-10d
NALLS.

WOOD BEAM/HEADER.

SIMPSON H2.5A (EACH SIDE

AT GLB’s).

16d NAILS AT 12° O.C.
TRIMMER(S) PER HEADER
SCHEDULE.

21

-—b

300-01.1 NOT TO SCALE

KEY NOTES:

—_

SIDE AS OCCURS).

PLYWOOD SHEARWALL. (EACH

6. SIMPSON MSTI60 WITH 40-10d

NAILS (CENTER OVER END

>

2. TYPICAL WOOD STUD. OF BEAM).
3. 4x6 BLOCKING. 7.  SIMPSON H2.5A EACH SIDE.
4, FOUR KING STUDS. 8. 2-2x6 TRIMMERS.
5. WOOD BEAM. 9. AT SHEARWALL USE POST PER
HOLDOWN SCHEDULE.
A - ®
@—\ un — @
4 Vi
< / . g
@J AN
7
I
'.__
& | T
A
\

INSTALL STRAP EACH SIDE
WHERE SHEARWALL SHEATHING
IS EACH SIDE.

WOOD BEAM AT WOOD STUD WALL (TYPICAL AT GRID C)

202

P

300-01.7M

KEY NOTES:

2x BLOCKING.

oo

NOT TO SCALE

DOUBLE 2x TOP PLATE.
EDGE NAILING — TYPICAL.

2x8 (MIN) BLOCKING.
PLYWOOD SHEATHING.
WOOD TRUSS (WMITH BUILT-IN

PARAPET) WITH SIMPSON H2.5A.

~

WOOD STUD WALL WITH

DOUBLE 2x TOP PLATE.
8. BUILT IN PARAPET BRACE.

460-01M

KEY NOTES:

SIMPSON A35
EACH END.

(1) 7/8" DIA.

BOLTS AT 8"

STEEL DECK.
STEEL ANGLE
2x2x1/4.

CANOPY SECTION

(2) 3/4" DIA.
FROM EACH END AND (1)
3/4” DIA. THRU BOLT AT
48" 0.C. (MAX).
HSS2.5"x2.5"x1 /4",
HSS2.5"x2.5"x1/4" SPACER.

NOT TO SCALE

4x12 WOOD BLOCKING WITH

TOP AND BOTTOM

WOOD STUD WALL.

1/2" THICK CENTER PLATE
AND 1/4" THICK OUTSIDE
PLATES WELDED TO ROD WTH

THRU BOLT.

1/2” STEEL PLATE 11°x11"
WITH (4) 5/8" DIA. THRU

0.C.

PLYWOOD SHEATHING.
17 DIA. RODS.
1/4" STEEL PLATE.

CANOPY BEAM C12x20.7.

WELD TO

ON (3) SIDES.

THRU BOLTS 6”

212

24121

NOT TO SCALE

203

i\i

D~

WOOD BEAM AT STEEL COLUMN

KEY NOTES:

SIMPSON

ECCOQ COLUMN CAP

WITH 1/4°x2 1/2" SDS SCREWS.
STEEL COLUMN.
WOOD BEAM.

=S

322-03.2

NOT TO SCALE

KEY NOTES:

PLYWOOD
WooD TR
PARAPET

BUILT IN

DOUBLE 2x TOP PLATE.
EDGE NAILING — TYPICAL.
2x BLOCKING.

2x8 (MIN) BLOCKING.

SHEATHING.
USS (MTH BUILT-IN
) WITH SIMPSON H2.5A.

WOOD STUD WALL WITH
DOUBLE 2x TOP PLATE.

PARAPET BRACE.

TRUSS HANGER PER TRUSS MFR.
GIRDER TRUSS.

|

Ao

@ WOOD TRUSS AT WOOD STUD WALL/GIRDER

213

CANOPY SECTION

460-01M

PRl

/ /_® 2.

3.

A 4,

5.

6.

7.

8.

9.

10.

N1 .

o 1.

12.

13.

i ©@  7Prs v
10

NOT TO SCALE

KEY NOTES:

4x12 WOOD BLOCKING WITH
SIMPSON HGAM10 KT TOP
AND BOTTOM EACH END.

(2) 2x6 EACH SIDE OF BLOCKING
AT TIE RODS.

1/2” THICK CENTER PLATE
AND 1/4” THICK OUTSIDE
PLATES WELDED TO ROD WITH
(1) 7/8" DIA. THRU BOLT.
1/2" STEEL PLATE 11"x11”
WITH (4) 5/8" DIA. THRU
BOLTS AT 8" O.C.

PLYWOOD SHEATHING.

1” DIA. RODS. WELD TO

1/4” STEEL PLATE.

CANOPY BEAM C12x20.7.
STEEL DECK.

STEEL ANGLE ON (3) SIDES.
2x2x1/4.

(2) 3/4" DIA. THRU BOLTS 6
FROM EACH END AND (1)
3/4" DIA. THRU BOLT AT
48" 0.C. (MAX).
HSS2.5"x2.5"x1/4”.
HSS2.5"x2.5"x1/4" SPACER.
LOCATE HSS2x2x1/4 CONT.
FROM CHANNEL TO WALL AT
TIE ROD LOCATIONS.

24121 NOT TO SCALE

KEY NOTES: KEY NOTES:
1. WOOD STUDS PER PLANS. 1. STEEL BEAM.

2. 2 - 16d NAILS (STUD TO BEAM).
3. AT SHEARWALL WITH MST
STRAPS OR PAHD HOLDOWNS
USE 3x MINIMUM.

4, DOUBLE KING STUDS AT ALL
OPENINGS GREATER THAN 6'-0".

5. WOOD HEADER/BEAM.
. SIMPSON H2.5A (EACH SIDE

AT GLB's).

7. 16d NALS AT 12" O.C.
8. TRIMMER(S) PER HEADER
SCHEDULE.

S

@i

)

@

T
[
|

PLAN — STEEL BEAM AT STEEL BEAM

204 300-01 NOT TO SCALE 205 1501-01.03 NOT TO SCALE
KEY NOTES: KEY NOTES:
1. EDGE NAILING. 1. EDGE NAILING.
2. PLYWOOD SHEATHING. 2.  PLYWOOD SHEATHING.
3. WOOD TRUSS WITH SIMPSON 3. WOOD TRUSS.
H2.5A. 4, SIMPSON BA210 HANGER.
4. WOOD STUD WALL WITH 1 5. SIMPSON LSTA24 AT 48" 0.C.
DOUBLE 2x TOP PLATE. 6. WOOD BEAM.
5. PLYWOOD SHEAR PANEL PER
TYPICAL DETAIL BETWEEN
EACH TRUSS.
Tl Tl
; =X
< P
<>
N VAR 3
A
\ 4
209 WOOD TRUSS CONTINUOUS AT WOOD STUD WALL 210 WOOD TRUSSES AT WOOD BEAM
460-01.2M NOT TO SCALE 462-01.2 NOT TO SCALE

RKAA.com

(-}
i
o
Ln
0
<
2
o
N
(-4
<
X
4
Ll
o
I
o
Q
<
o
(4
(%]
<
2
o
I
-
[
(%]
<
w
o
o
(]
(o'}

602-955-3900

imply

#24-121
ENG:GS

rucqural ..

www.simplystructural.com

602-443-0303

Fax 602-443-0404

730 N. 52nd Street, Suite 105
Phoenix, Arizona 85008
mwilda@simplystructural.com

wn
wl| wn
Ol =
b 4
L
<
I| =
Ol = (7]
x|l o —
ol S p—
z| S <
-
2| E W
of© o)
< <
NN O
B 2o
N w —
o N
| o =N
olo < -
<K& e o
L N
NOTICE OF ALTERNATE BILLING OR PAYMENT CYCLE:
THIS CONTRACT MAY ALLOW THE OWNER TO REQUIRE
THE SUBMISSION OF BILLINGS OR ESTIMATES IN
BILLING CYCLES OTHER THAN THIRTY DAYS. THIS
CONTRACT MAY ALLOW OWNER TO MAKE PAYMENT
ON SOME ALTERNATIVE SCHEDULE AFTER
CERTIFICATION AND APPROVAL OF BILLING AND
ESTIMATES. A WRITTEN DESCRIPTION OF SUCH OTHER
BILLING CYCLE APPLICABLE TO THE PROJECT IS
AVAILABLE FROM OWNER OR DESIGNATED AGENT.
< o
Ea ™
QA.zx
A O3
2 = m
- 0 O
(@ e
(@) N
erzos
wn =2 o
L o <.
ow 5'
L (@)
«n O
Qo
<< ’
o O
LN (@)
O w
2 I
COPYRIGHT 2023, ALL RIGHTS RESERVED. THIS
DRAWING IS AN INSTRUMENT OF SERVICE. IT IS THE
PROPERTY OF RKAA ARCHITECTS, INC. AND MAY NOT BE
REPRODUCED, OR REPRODUCTION HEREOF USED,
WITHOUT WRITTEN PERMISSION OF THE
CORPORATION. |
design by:  GS

drawn by: LV
checked by: GS

S5.1

project #: 23057


pmartinez
Text Box
CONSTRUCTION SET_11-12-24


